Aga Khan University Examination Board
Notes from E-Marking Centre on SSC-1 Computer Science Examination May 2017

Introduction

This document has been produced for the teachers and candidates of Secondary School
Certificate (SSC-1) Computer Science. It contains comments on candidates’ responses to the
2017 SSC-1 Examination, indicating the quality of the responses and highlighting their relative
strengths and weaknesses.

E-Marking Notes

This includes overall comments on candidates’ performance on every question and some specific
examples of candidates’ responses which support the mentioned comments. Please note that the
descriptive comments represent an overall perception of the better and weaker responses as
gathered from the e-marking session. However, the candidates’ responses shared in this
document represent some specific example(s) of the mentioned comments.

Teachers and candidates should be aware that examiners may ask questions that address the
Student Learning Outcomes (SLOs) in a manner that requires candidates to respond by
integrating knowledge, understanding and application skills they have developed during the
course of study. Candidates are advised to read and comprehend each question carefully before
writing the response to fulfill the demand of the question.

Candidates need to be aware that the marks allocated to the questions are related to the answer
space provided on the examination paper as a guide to the length of the required response. A
longer response will not in itself lead to higher marks. Candidates need to be familiar with the
command words in the SLOs which contain terms commonly used in examination questions.
However, candidates should also be aware that not all questions will start with or contain one of
the command words. Words such as ‘how’, ‘why’ or ‘what’ may also be used.

General Comments

In general, questions related to input devices, CPU components, binary numbers, word processor
and Windows operating system were well attempted. However, questions based on memory unit
conversion, presentation software, utility software, disc operating system (DOS) and computer
ports were generally not well attempted.
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Detailed Comments:

Constructed Response Questions (CRQs)

Question 1:

Consider the types of computers and programming language translators given in the box below.

e Analog Computer
e Digital Computer
e Hybrid Computer
e Assembler

e Compiler

e Interpreter

Complete each statement using an appropriate term from the box. Each term should be used
only ONCE.

i. performs arithmetic and logic operations with discrete values.

ii. translates the source code into the object code (machine code).

iii. uses flow of electricity or mechanical motion to model
problems and generate answers quickly.

v, checks each line of a program for possible errors and then
executes that line.

V. is the combination of analog and digital computers.
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Better responses showed good understanding of types of computers and programming language
translators and matched correct terms to complete the given statements.

Example:

i. DlﬂltﬂL Comnputer performs arithmetic und logic operalions with discrete vales,

i CDmpiLE,r
iii. Aszernbley

and generate answers quickly.

translates the souree code into Lhe object code {(inaching code).

wses fow of clecircily or mechanical motion 7 model prohlems

iy Trter p.'r"E.tEA“
that line.

checks cach line of a program lor possible cirors and then execuies

v, Hﬂbﬂ C-I EﬂfﬁPUtEr is the comnbination of analog and digilal compulens.

Weaker responses depicted confusion between types of programming language translators. Most
of the candidates wrote assembler in place of compiler. Moreover, some of these candidates
wrote analog in place of digital computer.

Example:

i . AE  performs artthmetic and lJoge operstons with diserede values.
i Hlf hf}'l(‘{ (f.ﬂm P\u{fﬁ translates the source eode mo he object code (machine code).

Hi. _.TH 48}'\ }J?ﬁf:‘il Ed wses [Jow ol elecirieidy or ineschamcdl molion W moded probleone

L] .
and generate answers quickly.

A C Cﬁl’?’lrg_.l 'JQEZ’; - __ . cheiks cach hne ol o progoam (ot pessible ermors and Wen eaecules
that Jine.

V. fj . ] E£ Eﬂ 14 the combanation ol anuloeg and dizital compuiers.
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Question 2a:
Describe an appropriate purpose of each of the following input devices.

e Voice Synthesiser
° Mouse
e Keyboard

Better responses wrote to-the-point purpose of given input devices such as mouse is a pointing
device and keyboard is used for inputting the data and text. However, even better responses were
not able to write the specific purpose of voice synthesizer, e.g. it inputs audio signals that are
converted into electrical signals/ it takes voice input and transfer into computer in the form of
digital data such as human voice.

Example:

ag human voice, o Meuse helps ua to select any

.:;LLLE or any cornmands  Hhrough Icong SNEH. We Car
= O uny : A .

=AU =3 Ei‘rﬂg any e Witk TE 3. Keabmrd: KEIL[bﬂﬂ‘rd 12

Very usgful n entering textual dota n computey.

Weaker responses were not able to present the main purpose of these input devices. In particular,
candidates were not clear about the purpose of voice synthesiser and wrote vague purposes such
as detecting voice and performing tasks/ searching voice in computer. Moreover, these responses
wrote incorrect purpose of mouse such as opening and closing software/ input device connected
with computer to use it. They wrote for general things about keyboard rather writing its purpose
such as keyboard is an input device which is connected with CPU and which controls the
monitor/ its purpose is to help user or programmer to enter keys etc.
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Example:

wJoiee &jﬁk"ngﬁﬁﬂ: 55 ,ﬁﬁ gm "y e vore d Ywrorn and

fowr e Jouk  widh  Ye nuwor  conwnond L.
Movse © Cperng e Cpair, Selbunie  Chep n orice. Thle

loss SRR . — .
Kewhomed : Can d0 veiificabion clheck - Casy 10 vse fit wer
in Jimil) bme. Jake op whol sptce, Slowst Hon wiouse.

Question 2b:

There are some video files and the size of each file is 64 megabyte (MB). How many of these
video files can be stored in 1 gigabyte (GB) storage capacity of a flash drive? Show your
working.

Better responses exhibited good understanding of conversion from one memory unit to other
memory unit. These responses converted 1 GB into 1024 MBs as a first step and then divided
1024 by 64 giving 16 video files as answer or some responses multiplied 64 with 16 giving value
of 1024 MBs and calculating the answer, i.e. 16 video files.

Example 1:

Sl e
> 16B = 1079 M
> 16 x UMD L0 MP,

2 6 pdes can e skored in UG

Example 2:

lG‘lB? i{]‘l"’-' HI'?‘
= !.Q-'J-L'-; V6

Gy
Pvis- 16 flor combe Stove dm | A Slovmqe.
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Weaker responses showed lack of understanding regarding the conversion of memory units.
Moreover, these responses depicted that students were not clear about whether MB or GB is a
bigger memory unit. Also, some of these responses used conventional conversion values rather
than memory conversion values, i.e. 1 GB = 1000 MBs instead of 1 GB = 1024 MB.

It was the requirement of question that candidates should show working to reach the answer but
most of the weaker responses directly calculated the answer and no working was shown.

Example:

_LCD_&_..CM_}EG&ML&_._ C - e e e e

Looe == £, L eSEe
Gauh wllbe 3K oA iy is
L{L

Question 3a:
Convert the given byte into equivalent hexadecimal number. Show your working.

(10111100)2

Better responses demonstrated good understanding of converting binary number into
hexadecimal number. Most of these responses made two groups of 4 bits and then wrote
hexadecimal digit for each group of bits. Some of these responses converted binary number into
decimal and then converted decimal number into hexadecimal number. As per the requirement of
the question, these responses showed the working required for conversion from binary to
hexadecimal number system.

Example:

e {leen), BERRITEI EREE
etz W= & 1= 1n| L::='=‘m-1E ‘hn—-'\ulnl'lll
lep= \1 = C, . EERL 1_:\1\|| W=l i

BOw As w:lojs-_'.mm o
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Weaker responses were either not able to perform correct binary to hexadecimal conversion or
they had converted binary number into decimal but could not convert decimal number into
hexadecimal number. Moreover, these responses did not show the working required to reach the
final answer.

Example:
__(mllnc.tfll = r?)m

T L r Ly T T \ 5
= Lx2H0X2F LA 12+ X2+ 102 FOx L +ox )
—ax12BA0 3 N2+ vte+ | Brinur O+ 0

= Q 5_3)1;, .

Question 3b:

Show that addition of two binary numbers, 10010011 and 01101100, gives a result which is equal
to 255 in decimal number system.

Better responses performed the binary addition correctly which gave the binary value
(11111111),. In order to verify whether this binary value is equal to 255 or not, these responses
used two methods. In the first method, binary to decimal conversion was performed to get the
decimal value 255. In the second method, 255 was converted into binary number which is
(11111111), and it was shown that the sum of the given binary numbers and the binary
equivalent of 255 are the same.

Example 1:
¢" i
O OAD Oy Y hm%ﬁﬂ *'if« (0} diny (& fuaf+ o Sy Y
£ 03138yt 0O 18 a6 %) Vv B x M x4V
VAMAYV A NY 5% ploded
Example 2:
¥ )
~ 1. 0010011 | 8% —( Ya 2[P33 .4
3 —1
£ 01 101400 e e e & ]2
1 1 £ 11414113 ={41111111Y0 2 -F'__f‘
s 3 _ -
 Trefefore we conchuded. that oddition of 2 1 _i“
b binedy Murnbers , o oolicnd IChDD g e 5 arne il a6 equalf kS N iy chom
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Weaker responses were mostly not able to add the binary numbers correctly due to which the
verification of the decimal value 255 was not possible. Also, some weaker responses
demonstrated that students misread the given value as 225 instead of 255.

Example:
oot oo | o 9_[226
YT ouol100 Al
V OOO O 2| Bl — o
{ 22 5% = (topOONN, 2| 29—~ O
o~ 2| 'y — @
T2 — o
2 = o
b—

Question 4a:

Recycle Bin and Internet Explorer are two icons on the Windows desktop.

Describe ONE major purpose of each of them.

Better responses demonstrated good understanding regarding the purpose of desktop icons, for
instance, Recycle Bin is used to restore the deleted files/ if any file or folder is deleted accidently
then it goes in Recycle Bin and Internet Explorer is used to search information over the internet/
it is a browser used to search.

Example:

. Ho Bint=- L < ; ha
2 Tedorred Laptaror iz wied tor browtoy e miernezod |
- Pegerotig  Varlews Liwids by vwilcg Yo fadae 2

Weaker responses were mostly not able to describe the purpose of Recycle Bin and Internet
Explorer clearly. For instance, Internet Explorer is used to search anything on computer/ it is
used to explore the things and Recycle bin is used to recycle things to make computer faster/ it is
used to save data.
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Example:

Commuaex nuter .

i i i U 1

Hnu (o gEﬂTG“\ an-l..-laf '—H\.}hn-

Question 4b:

Nimra has prepared lecture notes using MS Word and she wants to exit from the MS Word file.

Write any TWO appropriate ways that can help Nimra to exit out from the MS Word file.

Better responses mostly mentioned the shortcut key (Alt + F4) as keyboard shortcut for closing
MS Word file. Clicking on cross sign on top right corner; minimizing the file then right click and

finally selecting close option; and click on office button and then click on Exit option were also
mentioned as valid methods.

Example:

O Pages AT + FY

Ofess [f budtirs Besent in e top gk gares o dhe

Scxpen -

Weaker responses demonstrated lack of understanding and practice of using MS Word. Although
the question was straight forward but still students were not even able to write easiest way to
close MS Word file, i.e. keyboard shortcut (Alt + F4).

Example:

!t\;{;ﬁl"n e bppeY '24{? arner g e seveen selcc*c e c:x-\cl as

cl.ac.dﬂﬂ I:m( l.c.l'] &FFG.H ""m Qelﬂ:t New DCA S, :nﬁ‘r Ko .:_wrer;lr_
éﬂcum{' aill E-l..l\"

3) ek clf +N-4
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Question 4c:

i. Omar wants to open an MS PowerPoint file. Write the keyboard shortcut that he can use to
open the MS PowerPoint file.

Student ID Student Name Class Fee Paid
H110 Adeel Ahmed Xl Yes
H111 Saima Jamil Xl Yes
H112 Faheem Arshad | XI No
H113 Sidra Zafar X1l No

To insert the above given table in MS PowerPoint, write the minimum number of rows and
columns in the below given image.k)

Mumber of columns: O
| —

Murmber aof rows:

-

Cancel

Better responses wrote the correct keyboard shortcut to open an MS PowerPoint file i.e. Ctrl +
O. Moreover, these responses were not able to identify and differentiate between rows and
columns.

(Note: Interestingly, for such an easy question, there were very few better responses and most of
them were weaker responses.)

Example:

(i)

Cend ¢ (O
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(i)

Weaker responses depicted that candidates lack understanding regarding rows and columns in a
table. Most of them wrote 4 rows and 4 columns or 5 rows and 4 columns instead of 4 columns
and 5 rows. Also, such responses wrote incorrect keyboard shortcut to open MS PowerPoint file
such as function keys F7/ F10. Few of such responses misunderstood the question and wrote
methods to open a PowerPoint file, e.g. go to run and type PowerPoint ppt and then click OK/
press Windows button, go in MS Office and press Enter to open the MS PowerPoint file.

Example:

(i)

He caw uge dhe chent key FT ov 10 IS
: IR

abow MO Powgs point F\'.U.L.

(i)
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Question 5a:
Describe the purpose of each of the following.
i.  Utility Software

ii. User Interface

Better responses displayed a good understanding of purpose of utility software and user
interface. For instance utility software is used to configure, optimise and analyse computer
system/ it helps to enhance the performance of computer system and user interface is an interface
between user and machine which allows user to send instructions and commands to the computer
system/ it allows interactions between user and machine.

Example:

B Ulility Software
_ At m_%@ wohoede s wseol o °‘J}W="Pﬁ'a=
—Wéf'& It solw The Jﬂhﬂéffm‘v g Aol vimeen, WinRAR oIE .

1. User Inler Lice
Tt a.:/"i?fr}wfel‘gao& bedweent  pasen,  amol snaching .
Mﬂb Yy .:-amcbmg tomenonoll 16 the empulis,

Weaker responses were not able to describe the purpose of utility software and instead wrote the
names of utility software such as antivirus and disk defragmenter/ it is software designed for
utility bills. Moreover, some of these responses wrote types of user interface instead of writing
purpose of user interface.

Example:

i. Loiliry Sottware
Ak he‘u? Yhe utev - K¢ 1S e  sobfbwsod

W gwe E.C"ul"i .

ii. iIzer Intetface

L1 Y cnlev&‘ﬁ{:\gd fov e L Waeve o L lftn
Cnmpl.,x vae ORIy P . | Corvwr—fin d ) ure m\ﬁtme
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Question 5b:

In disk operating system (DOS), users have to perform each task by using commands.
Write appropriate DOS commands to solve the given problems.

i.  Change present working directory from C:\DOS to C:\GAMES\PACEM

ii.  Display the MS DOS version number on the screen of the monitor.

iii. Delete a file named CAT.TMP from the TEST directory on drive C.

Better responses demonstrated good understanding of DOS commands. These commands used
the directories and paths specified in the question to perform the required tasks rather than just
writing the command only.

(Note: There were very few better responses for this question which is similar to the trend
observed last year for the question given from the topic of DOS commands.)

Example:

1. Change present workiog directory from CADOS o CAHOAMESWPACEM
el ust “the “thowrqe DM_’!UW "{cn) come mmmmd& .

pfjﬁfang_: ¢ \Dos o’ ¢ \ G-mrq;s{f.\ PACEM

. Digplay the MS DOS version number on the sereen of (he WL,

el  wuge e tﬂmmmdl ”VERI{ ;\?ﬁfﬂaﬂ. - C -'\ \IEQ

i, Delete a lile named CAT. TMP Lot the TREST directory on drive C,

DEL C:|TesT[CAT.TmP.
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Weaker responses showed lack of understanding and practice of DOS commands. Most of these
responses wrote incorrect/ incomplete DOS commands. It seems that candidates ignored the
directories and paths specified in the given tasks while writing the DOS commands. Moreover,
these responses wrote incomplete DOS command keywords.

Example:

1. Chauge present working directory from C2DOS o CHGAMESPACHEM
Chih DTR.C\DOS = NTRCA LNES \ PACENT.
O ITER NG AMEL\ PACE 1N

. Display the M3 DOS version womber an the sereen of the monitor,

| _DIS}! PS DOS yesvion.

i, Deleic a lile named CALTRE from the 'TEST dircelory oo doive ©,
DE_L;/C.HT-TT"] P biom diige
DL [ dvive € CRT TP
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Extended Response Questions (ERQs)
The following questions offered a choice between part a and b.

Question 6a:

i.  Describe the purpose of central processing unit (CPU), control unit (CU), memory unit
(MU) and arithmetic logic unit (ALU) in a computer system?

ii.  Write any THREE advantages of using universal serial bus (USB) port over parallel port?

(Note: Most of the candidates opted part b of this question and they performed well.)

Better responses described the appropriate purposes of CPU, CU, MU and ALU such as CPU is
located on motherboard and it is the brain of the computer system, CU controls all other units
and sends control signals to these units, MU is the place where all the instructions and data is
stored and ALU performs all arithmetic and logic operations.

Moreover, these responses wrote advantages of USB port over parallel port, such as, USB port is
smaller in size; it is faster than parallel port; it is plug and play port; modern devices such as
smart phones, digital cameras are connected with computer system via USB port.

Example:

9 Sevtia) Processing. Lok CCRG )+ Thie the. \ruion o€ e, eomt@uder uinien

des e nchyuckions
vt ater otk hies do check alluomle,

do ey vmks T dlso
ave m‘:iwj €o¥res! o
Coored U (0D s, g, romg witideofitg. €O Wiy coviwele ol
N Wils ord_ dlbo edestodk Ahe. peviPhatol delues ot conreded
mtw-lé%

Bl ohvibropelie Logte Uer: Q)i g ugm» ulendn Der fating o owath.
xoNea) au&gaml SRk o mx&mg&_tﬂmﬁm_

IO - Th- g, o Uech e uineree O “wnediuchienne ctvd doda
\e Shoved This dvided wwoduny boon ovhe (RO 2, NeN Tralroskiors,
fono cdiney umily Ode shoved i Q- .
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» Tre. Shvge. obnirioges of uding VS Universal cavlrpert ouay
I{?OITO\\E\ ?ﬂﬁ AN 1~

W seapethee ATH cam ol ‘be used o aposer o oy devices:

Weaker responses mostly depicted the confusion between USB port and USB flash drive and
wrote that it can easily be taken from one place to another place/ it can store data and files/ easy

to find data inside USB/ easy to copy, paste and edit data in USB.

There were some weaker responses that showed lack of understanding about the purpose of

CPU, MU, CU and ALU and wrote incorrect or very general things about these units.

Example:
—b‘w...h .-'H'l
V) {‘E&inﬂ]i ﬂﬁﬁgq&éih%} th}‘ 18 mn.ﬁ:i pﬂ.ﬂ"
af s . e olt P xacces

i P ™ o

b Mol & \eporbany  Poxk of o (Lampdﬁy
L. &EHLID\L Dﬂ'ddﬂﬁim, N E Ll AN

bgpm af  Unik Vike LY Conlyal vl l™
- emory etk £ oxilm ekic 'Lﬂﬂ e
vk e O L0 mlf_}l.j'l 5 Shﬁilm . fphi‘i’av[

Orocessivma 1wk ¢ o6 vaing  of ComeQinls

S .HT\n (28 CE‘JU Covkyo' U\-\;t' kn {nhhr{:-

Bt older il

fii) ﬁéuﬂhl:'n%g’_ﬁ of- (Us'ri;]
_1‘};1'-70 Store  Lkhe Aalta [ fusm Yy
— [ =7

[

) b ee 6 Alue tar coogliey s

[ - | -1 41

L4
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Question 6b:

third, fourth and fifth generation of computers?

generation of computers as major technology.

i. There are FIVE generations of computers till date. Name the major technologies used in

ii. Write any THREE advantages of using transistors instead of vacuum tubes in second

iii. State the John von Neumann theory which became the basis of modern computer systems?

Better responses exhibited good understanding of the technologies used in different generations
of computers and correctly named the major technologies used in third, fourth and fifth
generation of computers. Moreover, these responses showed the ability to distinguish transistors
(second generation technology) from vacuum tubes (first generation technology) and wrote
differences such as transistors are smaller in size/ they do not get heated and burn out/ these are
cheaper in cost than vacuum tubes. Likewise, these responses stated accurate concept of John

von Neumann theory which gave birth to the idea of stored program.

Example:

QD\\ ."\ ‘:{sd Wmﬁm: 1 Gn'ﬁ‘-'-rﬁwiu’ Cifui\‘(\

"1"* CC‘} 2 mw..l‘mf“ T eXOOr nm‘\ or

'&\ D 1A ﬁnﬁgﬁ.‘tbrt.. Py umaﬂ o ord VOLo¥vvs

Ve { oeording +o e, ]

) -'tmrf,.ngﬁf oot 40 ‘hm J{A‘_{T‘M Watn

VOt v dolst

@ Doy Al #k\ Mokug ‘r.'a-'!\' dorit Hlow m_&-_qjxl

e ﬂﬂ\\i\l‘h Ul—"s'} ‘\hm .

*_“_3 oo vorn Nevrraor ghaied WY

“ Rrooramt  ard  doke  Crood L Pjngg&

*o%qh-ﬂar e rm_mmma.bkm_it's PO

or  oiwed Xl | Dake - ¥

— toregoYet o t‘gﬂ%ﬁilﬂ. A R QCQ% { Qo
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Weaker responses mainly demonstrated confusion between the technologies used in different
generations and storage and peripheral devices invented during the evolution of these
generations, e.g. in third generation, there was magnetic drive; in fourth generation, there was
floppy disk; and in fifth generation, there was CD and DVD. Moreover, these responses were not
able to state the main idea of John von Neumann’s theory and wrote general statements such as

this theory became the basis of modern computer/ he gave the concepts of ALU, addition,
subtraction and logical operations.

Example:

: ) 1Y - o5y
bﬁ rse c"ﬂhﬁ-(ﬂ.kmﬂ Ay mkcrs L re ;"\E&E{.O ELD_BM__
- ' st - 19
j@iqgmmmw*mr& CjﬂﬂEf_gﬁaﬂ
TR

T
.gum...;:_a.‘;cm we e Aeu‘m?e._:ﬂ_i_n_ 1AG3> and were waed bill 1933

iﬂyrihc:[enemﬁarrs were Javu[a?acp In 1Y and ware us@;g Al
198l and HEEA Tnfrﬂ_h‘“bh coripiibe Py ore wsed Eram 13gl il

orweards . Tﬁchnalaa}?g“{kﬁ% wrre weed n Ahird yenerobion
oF complikels wete Yeeddigh & {aﬂh} Aigle and ab

o e Qgig; 5!5"—‘:9* E‘n_t%urﬂk cyenemh‘bn TArer @ PtEn_'tcrx,MbuSe
e'cc.'-f'_fhw{aﬁi‘ﬁs ws-ad p FiFll heineratian_are OMR,&FS&_L&
Recogrition, Waed wiciking Reocegynition efr.
DThe Tronsistors wore  small i gmd siye..
@’[ﬂdg were not 1-@:4!:&& '
[LD Tlmea—r] cansume 1243 plectrie pouser v;up‘g)\j.

[!:]ﬂfﬁ*f’“ff'ﬂ"‘ 'fﬂ""”‘fl?l—_ of a_[ﬁnfﬂl‘hmft- Moder o {‘nmp“{‘f*f_i_h"—_"‘".‘ )
Puilloonelic Lomic Unik whicdh giocesses edd bion and subbtracbin
a5 wdl as (oglced spermtions
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Question 7a:

A family purchases three new PCs and installs an integrated software package which includes
the features of word processing, spread sheet, presentation and database. Explain in detail how
this integrated software package would help this family in performing different tasks.

(Note: Candidates attempted both parts of this question almost equally but their performance
was better in part a was better than part b.)

Better responses showed good understanding about the features of all four software, i.e. word
processing, spread sheet, presentation and database software, and related these features to the
different tasks performed by the family and explained well how these software can help to
complete these tasks.

Example:

a. (he ln‘ce.:noj:ec! goHuJare mcLaqe. would, help Yhem

r?mm d\FFeran{; kacgke h'l-:e, NochL processor will help

Tl qnmcn

Jr\_r_w_@ chitdren do Bheir 'hom&wc*r“ﬂ. '_-'k cotll help them bo
Q\'udq aifferent -anmaﬂ:mﬂ bF’cmns P-routdec!\ b'j Word
?n:-c,zssnrs This solbware paokaqe includ es_presentotion
_sckbware which will help them mroke wegdr‘tld‘t:bﬂ; For their
school oy 1,&".3 puY poses. ﬁpveqés}\ee\; sobhwsare il he_]p
Jhenn bo moj(g, a rec,ord a.f their mon{'hb-{ expenses.,
Yheir galafq s extro eﬁpenses.,‘nause rent gle. "I'F\e_,% can aloo
‘Hecp Qa TE:*.-C-VC{ DF Phﬂlr businesses bl.] qraphrc. rePreSenfa‘h-
on h‘«e piefcharks.,q'ra-phs gggmc}\ ba e\E, B
1§ Yhey hcwa a mnnflﬂq buginess - database management
&"%51’&?9_ U.?lu ?Wwd& 1]:1-@11\ il th e badﬂt{) D»F Jrhg"
previous hles ond help them to secure thew data
’c'hak Fhe)‘é enter about IReir busiriess or anu{;‘,“nq .
‘W\e.q can eonily %eep vecords of ‘their p‘rogﬁ Jloss,

income mmn%lj ngend hures . W.&oﬁiﬁ;mm
educokion , assigrments , presentahons for johs 'bq using

¥his integraled saghums ‘Fac.im,gc :
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Weaker responses mostly tried to explain the integrated software package and were unable to
write the features of the four given software that can help the family to complete their tasks. For
instance, they wrote that integrated software can store many things in it/ it helps in various tasks.

Example:

Q)Tm+aﬂin?f g/b inte jﬂdc—J, ASfhuant good_fix
fori Lur Axioe wﬁn;rcﬂfuy Aoffuoont  has
o G_b!fr o f&f“f\'b }w-gg ML;J & it w
o qmcl, o d vontege  hotr  fenk _Daﬂni
bﬁf_ﬂﬂiﬂ wovre I)WW“%’. /w:f;-rf_a_e@, &M"}, }brrmmjrﬂ-"'?h

4, nmc,l't'_m.qe_, et 1 f;rnmrt dﬂ —Hw-c_u hmw
a mv& Wmﬂi%,w Lheek pﬂmwfm.bfm&’
Aok Bose . 15 Ao hﬂfml“:iﬁ bk o st altd
Hobr  imie grate d Aaf]#-'w PLIL‘L% thirs~
Com do U.__gwr()ﬂm o hwr-d‘am vn «ffwmdw
beause oy ity hugx At /‘E‘e’”""-ﬂ&+ i P
ant n‘mm&ﬂ -HM'LA ratalle 4 e,mcfpf- %ﬂ.ul"%-uf st
jnbiom 2 bobene & wwatpwc.wuj %Lag-{;amaloq
sprr Aum ado ok s fime B wamitto
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Question 7b:

system.

I.  ‘Disc operating system (DOS) is almost replaced by the Windows.’
Justify this replacement by providing any FIVE valid reasons.

ii.  System software and application software are TWO major types of software in computer

Describe each type of software and give an example of system software.

Better responses wrote relevant reasons due to which DOS is replaced by Windows such as DOS
cannot do multiple tasks at a time but Windows can do/ DOS has no GUI but Windows has GUI/
Windows is colorful but DOS is black screen with white text on it/ mouse cannot be used in DOS
but it is used in Windows a lot/ to perform any task in DOS we type commands but in Windows

we use mouse to perform most of the tasks.

Moreover, these responses depicted good understanding of system software and application
software and properly described them along with example of system software, i.e. operating

system, Windows, DOS, etc.
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Most of the weaker responses wrote irrelevant or incorrect reasons to describe the supremacy of
Windows over DOS.

Moreover, such responses did not mention example of system software, instead of that, they
mentioned the example of application software rather than mentioning the example of system
software.

Example:
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